Quiz I; F5360; Spring, 1995				





1.	Provide a short answer to each of the following:


a.  How would acquiring a steel factory differ under “capital budgeting” vs. a merger or acquisition?


b.  Why should the primary goal of the firm be to maximize the value of the firm’s stock?


c.  How do preferences for current vs. future consumption create positive interest rates?


d.  Why do investors generally demand higher expected rates of return on riskier investments?





2.  Based on careful analysis, you have concluded that you should optimally invest $6000 of the $15,000 income that you will receive today in a project that will provide a payoff of $10,000 one year from today.  This payoff along with the income you will receive one year from today will provide a total of $27,000 for consumption next year.  However, you have decided that you only wish to consume $19,000 next year.  The rate at which you can borrow or lend in the financial market is 14% per year.


a.   Show graphically your income, optimal real investment, and the payoff from real investment.


b.  Show graphically and mathematically the maximum consumption you can achieve today given your desire to consume 19,000 next year.


c.  Suppose you decide to achieve your desired consumption next year without any financial market transactions.  Show graphically and discuss why such an action is not optimal according to the NPV rule, the rate of return rule, and maximum consumption today.
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